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+ 20427| FLUOIYMAST|8) : LGEHERRAED, SICHRK 419, 70kxKH 172, AHI0|2(A14%
(Stelpt) 2042 [ 120 | 126 | 127 |sedesl| ®MFe| |20 2|
KOSPI 2,873 3,115 3,140 3,123 A0.6% +0.3% +8.7%
KOSDAQ 968 978 994 986] A0.8% +0.8% +1.8%
CHEHZ k) 14,733 15,806 15,659 15,701 +0.3% N0.7% +6.6%
2d-=(H7[0]) 27,444 28,523 28,546 28,635 +0.3% +0.4% +4.3%
ST(MlER) 3,473 3,583 3,569 3,573 +0.1% A 0.3% +2.9%
o FalY maml Lof(g) : (2AF2)) 46294 (ZIE) A37T (Hel) +10668
o FalY mACH Sof(g) (22N A1514 (ZIE) A1915 (GHLl) +3670
(ehei:alel) [20dZ [ 119 | 125 [1.26 (M[eiiels]] ®Fu| |20 L]
CH Xt &toH 46,598 47,449 50,981 49,656 N 2.6% +4.6% +6.6%
CHAR==(2HEh 1,929 1,404 1,425 1,414 A 0.8% +0.8% NT.5%

(] (38) 998 &2 k£ FOMC A3 Ui

g3t gHog g oA V2Vt fAE Aog A3ET st
(etei:e) [204%| 120 | 126 | 1.27 [dggiels|| MFu| [204 2]
H/EE 1,086.3 1,100.3 1,106.5( 1,104.4f  A0.2% +0.4% +1.7%
/10021 1,051.8)  1,062.7]  1,068.1 1,065.3] A0.3% +0.2% +1.3%
2 eHEB (A2  6.5011 6.4615 6.4721 6.4715  A0.0% +0.2%|  A0.5%
0 (33) AT 243 20y B8 2402 2% g
HZylod, o= wAd=E w5 A7 WA FY o= s
(Ete:%) | 20de | 120 [ 126 [ 127 |deeies|| ®Ful [20d ]
CD91<d 0.660 0.690 0.690 0.700 +1.0bp +1.0bp +4.0bp
=134 0.976 0.976 1.007 0.998] A0.9bp +2.20p +2.20p
= 11104 1.713 1.703 1.770 1.753] A1.7bp +5.0bp +4.0bp
3| A=K (AA-) 2.208 2.129 2122 2108 A1.4bp, 221bp| 210.0bp
b= 73.7 2.7 76.3 75.5| A0.8bp +2.80p +1.8bp
AE AzRE 123.2 115.3 1115 111.0f A0.5bp] A43bp| A122bp
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